Tuesday
Using mental methods for subtraction
Group A

Use what you know about place value to work out these answers

+48 - 50 =
6/5-10 =

433 - 40O =
L2 - 300 =
/726 - 20 =

Work out the answers to these questions:

702-5=
201-7=
103-4=
505-9 =
803-5 =
405 -7 =
202-8=
304-6=

The XL Sections for today are
F and H

Ruby wants to work out the answer for 328 - 99. She starts by taking away 100. How will this

help her?




Challenge

Calculate the answer to the following:

17) 122- 6 =

18) 279 - _ = 271
19) ___-7=329
EXTRA Challenge

Explain how you would use
14 - 8 = 6 to calculate 384 - 8.




